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Instructions . P
i
1:) ::.questinn are CUmpuISOI'_Y
IS questig,, - ' _
C, Sect; Stion Paper has 5 sections : Section A, Section B, gection
iii) Sectionﬁn Dang  gection E
A4 _ . 1 :
I mari S Oof muitiple choice type and each question carries
) Secti
on g is of '
ve i ries
1 mark. Ty short answer type ::_1nd each question car
V) Sectig . :
n
Vi)  Sect; Cis of short answer type-I and carries 2 marks each.
10N : .
Vi) Secti D is of short answer type-II and carries 3 marks each.
ion E;
In a fE 'S of long answer type. Each question carries 5 marks.
given YDUI' duestions of this section internal choices have been
. Ou have tO dg . '
only one question fr . .
the question Y q om the choices given in
vili) The g .
Ymbols ygeq In the question paper have usual meaning.
Tug - o
Section - A
1. %) i<} .
TG (k) wher &
1 = 3
] k=0 1i) k=+1
iii = - .
1} k=-1 V) k= (39) |

) wmpwgi?awaﬁ?aﬂfrm%maf@aﬁmw%mgqﬁw%

SIS - Iy 5y
iy SRS IR T Qi
50{]11(,71
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T R 3 v AT AN R e o e
Yoy 7 A G & 7

i,- 15 i) 290

i) 133 iv) §1F€r| I
wﬂmﬂTc;{H—;;HcﬂrQHBo‘rQ@?ﬁaﬂm%

) e feEued i) i dema

i) ey faeed ivl' 1 | HE T 1
ﬁ'ﬂ?{fﬂf@ﬁﬁﬁaﬁﬁ-wiﬁm:lﬁ%?

) OweigH i) TN

iii) o-H0 2 Il 1
WRWLWWCWﬁﬁ@@%1WﬁﬁWWﬁ
w@%nwmaTﬁhmﬁn%%ﬁﬁﬁﬁﬁﬁumﬁﬁﬁ#mﬁWﬁﬁﬁ7

i) n=0 ii) n<n
: ‘ .
111] n= nr “,r] n=> ﬂ.r
The dielectric constant ( k ) of silver 18
) k=0 i) k=+1
i) k-1 ) K=o (infinitV) 1

I' Fh-lrn OV
https://www.upboardonline.com
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4 it !

) N-P-N trang; - following, hyre, Thin o7
SISoy. - in Lhe o .
810 is Hl'l‘:lu;-'.'-f‘i ag 11
15 of
N
])
Vo
v, N
I»._..-
i)
Common-bage amplifier
ii :
) common-emitter amplifier
ii '
) Common-collector amplifier
iv) none of these. :
c) What will be the refractive index of a thin prism material if its

refracting angle and angle of deviation are the same ?
i) 1-S ‘ 1i) 2-0

d) The equation 4 : H— ;He +2 Hﬁo +Q represents

i) nuclear fission )  nuclear fusion
iijj ~ nuclear disintegratio® ) none of these,

200117,
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S 346(BS)
Among the following, which one I8 Not the fundamental particle ?
1) Positron i} Electron
iii) o -particle 1v) Neutring. J

Resistance R, inductance L and capacitor C are connected in
series. The frequency of alternative current source is n and
resonant frequency is ny . Under which condition does the current

lag behind the voltage ?

Y n=0 ii) n<n,
1i1) n=n, wv) n>n 1
g - q
Section - B
Fa@qaaﬂﬂﬁmﬁmmq@wm | ,
gt qORs ¥ T A € ? 1

e A 4 _ 3 yugdAiE At 39§
n=%arqaﬁm$ammasw:ﬁamaﬁn_2 o 3

WWW@@TWW@W@H? .

W;ﬁmﬁwm(g}mﬂm%? !
N”qﬁﬂ:ﬂtwﬁmaﬁmaﬂﬁm :
,

e ¥ R i i i 1

n features of electromagnetic waves. 1
1

d nature of CONVEX leng of

Write any two mai "
What ié meant by threshold wavelengt

What will be the effect on focal Jength an

3 gipped in a liquid of refractiye
glass of refractive index n=7 dip

3
index n= -é' ?

[ Turn rJ'f,l'.n,.

https:// www.upboardonline.com



\.’"‘Ulnﬂ,
) 6

What is
e .
M by the current gain (B) of a transiste 5

e
nj E:;C:altehthe “harge on pucleus ,N'* in coulomb. !
Y Of self_inductance. 1
Tgog - 9
3. %) g5 S Section - c |
aaﬁg%w 3‘7‘"‘ W g R 9x10° w2 d & T
Q) wﬂ%'mwﬁlmmﬁmmﬁm 2
M S qer q WWWWWW%WQH Ef(%lﬂ“ﬁwﬁ
T d T e 4 fegr et o g oo A 0 = 24Ed
| 2
)

WW@WWQ%H&WWW%WWW
W%’H}ﬁﬁﬂﬁﬁ@w%aﬁaﬁgﬁzoﬁﬁ%ﬁﬁﬁ
P S @ i 2
0 A w o iRy @ w2 e-siEE oo & fo
Eiieai"ﬁm_w*ﬁ?w@wwmﬁuﬁwﬁﬁﬁml 2

3. 4 An electron of energy 45 ¢V is revolving in a circular path in

magnetic field of intensity 9x10Sweber/m?. Find the radius of

circular path. - 2

b} A particle of mass m and charge g traverses distance d from the

rest in a uniform electric field E. Prove that the velocity ( v )

2qEd

attained by the particle is I’)= = 5

c) The magnifying power of a telescope is 9. When it is adjusted for

Parallcl rays .then distance between eye lens and objective is

20 cm. Determine the focal lengths of both the lenses, 2

https://www.upboardonline.com



3. )

Q)
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4. a)

b)

d)
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7 346(BS)

What are meant by ohmi¢ and non-ghmic resistances ? Draw
graph between voltage and current for non-ohmic circuit and

define dynamic resistance-

ave - ¥

2

Section - D
WAN] P T oA SN % AMR W AR s s S ael
st ST 3
NOR 2 Fa1 ¥ 7 T o Waleh Gite TN Fed Fiolt st i | 3
Rl o o uRT U deean 1 WHIEG e €
i = 3.5sin(628t + 1 /6) TR
v =28sin(628t - n/6) AT
T HIAT ¢ () URT H W AR O WM, (i) bl W (i) QT
e & S FARK | ' -3
e (y) RO & AR v o fAfER | T q R S W e
feraant s it ¢ 2 3

mmﬁmﬂ%mm'@wﬁmﬁwaﬁ%%m
45° T H0T TN ¥ | T AT B0 H A FET 2 3

Classify nucleus on the basis of atomic number and mass number
and define them. http5:,.f';"www.upboardonline.com 3
What is NOR gate ? Draw its logic symbbl and obtain truth table. 3
The equations of current and voltage in a circuit ar¢ as follows :
i=3-5sin(628t+n/6) ampere

v = 28sin(6281 - 1/6) voit.

Find out (i) root mean square value of current, (i) time period and
(11i) phase difference between current and voltage. 3

' length
Write four main Properties of 7-Tays: Whose waveleng | 1s larger

among y-rays and ultraviolet r2Y° ? 3
[ F[\L]rn Ovl\r

https://www.upboardonline.com



346(BS)

€]

5 )
)

m

)

%)

b)

d)

S0011/7

_ ML'GRmaﬁwqﬁwﬁmﬂﬁﬁfﬁ?%ﬁﬂﬁwww'

:: suspending a tagnet atssoo with magnetic meridian, it mﬂk:_
dipiﬂgle of 45 with' the horizontal what will be the actual angl®
:ﬁmﬁ%ﬁmm%uﬁ?%@ﬁﬁmﬁﬁmﬁ@ﬁﬁ]

' ﬁmzﬁ%“%bﬁm ) T B H AT 165 ¥l

%wg?a s Wwwwﬁﬁﬁﬁwwi
1
3

3

| 3
Eﬁﬂ%wqﬁwgﬁwl - 3
e
T
%Wﬁ?m%ﬁ@qﬁm—s-4ﬁ@?w%‘w
“IIW%WWﬁﬁm 3

ﬁmr%trmi%
ST 1 37 =em forrem w7 o e o & w@ o
S i ‘ o

alternating current circuit,
Explain Bohr’s model of atom. >
OR 3

The energy of an electron of excited hydrogen 4t
atom i

Determine the angular momentum of the elect ST R e,
ron,

'Obtain the formula for refractiye index of m ?

aterial of prism in

iS
- m-

3
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346(B8)
WUE - g
Section - E

T AR % fir et & @ PR @ R ,

A

T A W ¥ S OEE geEEe ¥ @ AR AT B R AR ¥ ar A & ey di

B%Wﬂﬂm%!ﬂﬁﬁﬁAwmﬁﬂaﬁﬂﬁ,ﬁmﬂaﬁﬂﬁﬁhﬁll“l'ﬂﬂ
AT |

5

Explain both the laws of Kirchhoff of electrical circuit. 5

OR

Two wires made of same material and of same masses A and B are taken,

The diameter of wire A is half to that of B. If the resistance of A be

24 ohm, then calculate the resistance of B. S5
7. @ TSTCl ¥ SoE-a0T FEUROT A o A ¢ 2 G-mel aied & o wamy
s FO & ISt H wiad witeg | 5
HYgar
ifer TV W TR W weR @ a1 wia & o gy wifw s
5
7.  What is the meaning of matter-wave of Louis de Broglie ? Deduce the
relation for wavelength of de Broglic in tetms of kinetic encrgy. )
OR

Derive the formula for the cﬂp“pihuwe- of a parnllel plate capacitor,
partially filled with a dielectric, ‘
| [ Turn aver
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10
8. m@m % N ) . " i i .‘_
- qzﬂrq %qg-,ﬁmm mmIWwﬂﬁW.W, g, <
T S e gt 7 H R s 3 "
S 3 ez & feg a1 4 0 s @ ‘
YAl
*, i . 3 ;
ﬁ' T S A T g § 7 T g SR T e 3
S Hife | °
8. Draw ty
of L © Cnergy level diagram for hydrogen atom. Show the transitions
Yman, B ies 1
. - almer, Paschen, Brackett and Pfund series in the diagram. In
Ich region 4o these s i |
pectrum lie ? .
OR
What do
1 ¥Ou understand by clectromagnetic induction ? State Faraday’s
AWS regarding electromagnetic induction. S
g . X )
M | F T 3 ?W%WMW@WWW%
fremi 3t samen it
S
Yy
LED ¥ 7 areqd & ? T T, WO U6 e
)
9, What is the meaning of wavefront ? Explain the laws of reflecti
S o Cllection
explaining Huygens’ principle of wavefront. >
5
OR
What is LED ? Explain its principle, construction and working
. . 5
60011/71
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R ® geqy (m.) =01 x 10" febetm

TR T ANAW - 1.0« 101 el

0y

@® FuA®H (h) - 060 x 10 M Sl Ueh 2

ST bt et e (¢) - 3 10% Al

1
In e

~=9x 10" Nm’!;’v""
0

TR TRT (g ) = 10 H/42
Regst fetiss (R) = 1.097 « 107wy !

et it degefiern ( co) = 885 x 101202 /Nm?

Physical constants :

Mass of electron (m,) = 9.1 x 1-3! kg

Ch f =1 B
arge of electron = 146 x 10719 ¢ L 1omb

Planck's constant ( h) = 6.6 1073 J.g

Speed of light in vacuum ( ¢) = 3 x 108 m/s
1 9 2, 2

an e, =9 x 10" Nm~ /¢

Acceleration due to gravity ( 9)=10m /52

R =1 ;
ydberg constant ( R) = 1-097 , 107"

Permittivity of free space (eg)= 885, 10"‘902/1‘1--:112
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